Test 2 — FRQ

Free Response Question

1. A biologist gathered data on the length, in millimeters (mm), and the mass, in grams (g), for 11 bullfrogs. The
data are shown in Plot 1.
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(a) Based on the scatterplot, describe the relationship between mass and length, in context.

From the data, the biologist calculated the least-squares regression line for predicting mass from length. The
least-squares regression ling is shown in Plot 2.
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{b) Identify and interpret the slope of the least-squares regression line in context.

(c) Interpret the coefficient of determination of the least-squares regression line, rl= 0.819, in context.



(d) From Plot 2, consider the residuals of the 11 bullfrogs.

(i) Based on the plot, approximately what is the length and mass of the bullfrog with the largest absolute value
residual?

(ii) Does the least-squares regression line overestimate or underestimate the mass of the bullfrog identified in part
(d-i)? Explain your answer.



